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ACTIVITY SHEET EPISODE 22: FINANCE REPORT

Put your learning about numbers and numerals into practise by selecting the correct answers in our
quiz.

1. If a company holds meetings biannually, how often are they held?
a. everytwo years

b. twice a month
c. twice ayear

2. The organisers of the benefit concert received support from the corners of
the world.

a. four

b. three

c. six

3. If a group of musicians formed an octet, how many would there be?

a. six
b. eight
c. ten
4. According to the Zodiac periods, Pisces is from the to the
a. twentieth of February to twenty-first of March
b. twentieth of February to twentieth of March

c. twenty February to twenty March

5. percent of the students received a satisfactory grade.
a. 45
b. Fourty-five
c. Forty-five

6. Scientists claim that of the world is covered in water.

a. seven tenths
b. seven over ten
c. 7110

7. Three eighths plus one third equals

a. seventeen twenty-fifths
b. seventeen twenty-fourths
c. seventeen over twenty-four

8. What word is missing in the following sequence?
solo duet quartet quintet

a. triple
b. trio
c. sextet
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9. If Jane and John decided to split their lottery win, and John has already spent his half, how
did they split the money?

a. fifty-fifty
b. fifty twenty-five
c. fifty zero

10. What word is missing in the following sequence?
single double triple quintuple

a. quadruplets
b. quintuplets
C. quadruple

ANSWERS
1. If a company holds meetings biannually, how often are they held?

a. twice ayear

2. The organisers of the benefit concert received support from the corners of
the world.
a. four

3. If a group of musicians formed an octet, how many would there be?

b. eight

4. According to the Zodiac periods, Pisces is from the to the

b. twentieth of February to twentieth of March

5. percent of the students received a satisfactory grade.
c. Forty-five
6. Scientists claim that of the world is covered in water.

a. seven tenths
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7. Three eighths plus one third equals

c. seventeen over twenty-four
8. What word is missing in the following sequence?

solo duet quartet quintet

b. trio
9. If Jane and John decided to split their lottery win, and John has already spent his half, how
did they split the money?

a. fifty-fifty

10. What word is missing in the following sequence?
single double triple quintuple

c. quadruple
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